This is the worksheet of what | did in MAT331 on Tuesday, January 28. It doesn't necessarily make any
sense by itself.
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Below, | typed Pi/6, and hit enter. This gave the reply én Following that, I right-clicked on Pi/6 and

selected Approximate->20 to get a numerical approximation.
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Note that Pi is the constant about 3.14159... but pi is just a greek letter.
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The same goes for e. eisnot 2.718... itis just a letter. One has to use exp(1) for the base of the natural
logarithm.
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evalf (%, 20);

evalf(exp( 1 )3, 20):
20.085536923187667742
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The = sign asserts a statement which is either true or false. In maple, use ;= to assign a value.
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e=exp(l);
e
evalf (e)
2.718281828

x = 123456789123456789°°
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759064310633950400138047494958689075076341693518523971741726621160715669132\
452418700218530349754283001
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Error, (in unassign) cannot unassign "234' (argument must be
assignable)
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unassign('x")
X

stuff == "once upon a midnight dreary"
"once upon a midnight dreary”

stuff[1..5]
"once "

c:os()c)2 + sin(x)2

cos(x)2 + sin(x)2

simplify(%);
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plot(exp(x),x=0.2-Pi);
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plot(exp(x),x=0..2-Pi, scaling = constrained),
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plot(sin(L ),xZO..O.l);
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B plot(sin(x),x=0.2-Pi);
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[ > plot(sin(x), x=0..2-Pi, numpoints =8, adaptive = false);
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[ > plot(sin(x), x=0..2-Pi, numpoints =8, adaptive = false);
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[ > plot(sin(x), x=0..2-Pi, numpoints =8, style = point);
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> plot(sin(% ),xZO..O.Ol,numpoints=8);
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> plot(sin(% ),xZO..O.Ol);
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=> plot([sin(x), exp(sin(x))],x=0.2-Pi);
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(> plot((sin(x), exp(sin(x))),x=0.2-Pi); _
Error, (in plot) unexpected options: [exp(sin(x)). x = 0 ..
Pi]

> plot({sin(x), exp(sin(x))},x=0..2-P1);
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Hey. this is SOIME stuff.




